481,7

177 = 4HE

835 | 465 _ 66 215 B 106 . 589
'\‘ | 15 O ( g > | q @m - m@m ] | ]
: - T T T T T T T T T T T T T ot T T T T T ot
™ ﬁ@mﬂ@ﬁﬁ o o o ® @]
= - - N )
1 NNNNO0ONNNNOO00ONOO0000 5 [ \ /! D ® L P o
g rrrrrrrwerwwnn - 9 1 1 1 1A A A [ [ F ML
© e
S g rrrrrrrwerwwnn I ) @ © @) ; i :::::::::::::
I 1 R W I © © © © o o
L . . NI o) : / ( )
J—€ L nnnrgrrnrgrrrerrrrmeaita] 3 OIB 88_\ (:D ©) ® Q
S O e Je ()
© @ N ®
' U | ® ® ®
front view side view rear view
B 466,45 . 39 _
I
]
- - C5240
main dimensions and fixing points
] dimensions in mm
|
4 35

top view g



C9900-M712 telescopic rails and bracket set Drawer Slide Bracket - Set
(Accuride: DZ63374-4)

Washer (plastic) A:4,9 B:15,9 C:2,5

1. ox 2. Left& Right Version @ 8y
(Skiffy 003 0403 000 01)

Screw Kkits for brackets

2X
Front - brackets

6X

' 1SO 7380 - M4x8 - A2

with hexagon socket
( g ) o~

o Rear - brackets

Telescopic rail
(Accuride DZ2907-0018)

max 483.7
34.5 mMinN 436.5 12.7

3 ~ 281,1 1059 25,4
( "@—\ r
Tel c rail with brackets T
elesCopIC rall Wi | raCcKkelts | @ o o B
\ ao 00 @D O OO0 & aNe; ao O @Doi
( L h—
5 ] Drawer Slide Bracket - Set

(Accuride: DZ63374-4)

o
Fillister head screws

o Q
4X
0 Bar nuts

0
N

&
(VAR V5 W\ Vi § Wi § A\ Vi G WA 72\ W W G W)\

following material is not included in C9900-M712!

\/ 1 5 S

1
Spacer: A:8,0 B:3,0 C:5,6 L B
(Ettinger: 05.65.033) e |

4x

/_é — &
Wi w
<

0 @Q} Hex nut: DIN 985 - M5 - A2 iy
’ . Self lockin
Q . 4X

' ISO 7380 - M5x12 - A2

(with hexagon socket)

2 ),

ISO 7380 - M6x14 - A2
(with torx socket)

IS not included in C9900-M712!

2X
2HE - Profile ralil
(Adam Hall GmbH: 61535B2)

<
@/
R B R R Y R N B Y

/_é — = =
h v W ef vl W




